

$$f(x) = \begin{cases} \cot \frac{\pi x}{4} & : x \leq 1 \\ \sqrt{x^2 + 1} & : x > 1 \end{cases}$$

$$f\left(\frac{1}{4}\right) = \cot \frac{\pi \cdot \frac{1}{4}}{4} = \cot \frac{\pi}{16} = \sqrt{4} \quad f\left(\frac{1}{4}\right) = \sqrt{\left(\frac{1}{4}\right)^2 + 1} = \frac{5}{4}$$

الف) $g(x) = \pi \cos^2 x$ $f\left(g\left(\frac{\pi}{4}\right)\right)$ $1 \cos^2\left(\frac{\pi}{4}\right) = 1 \times \left(\frac{1}{2}\right)^2 = \frac{1}{4}$

$f\left(\frac{1}{4}\right) = \sqrt{\frac{1}{16} + 1} = \sqrt{\frac{17}{16}} = \frac{\sqrt{17}}{4}$

ب) $g(x) = \frac{x}{1-x}$ $f\left(g(\sqrt{x})\right)$ $\frac{\sqrt{x}}{1-\sqrt{x}} \times \left(\frac{1-\sqrt{x}}{1+\sqrt{x}}\right) = -\sqrt{x} - x$

$f(x) = [x]$ $f(-\sqrt{x} - x) = [-\sqrt{x} - x] = -x$

$g(x) = x \sqrt{1-x^2}$ $g\left(f\left(\frac{\pi}{4}\right)\right)$ $\sin \frac{\pi}{4} = \frac{\sqrt{2}}{2}$

$f(x) = \sin x$ $g\left(\frac{\sqrt{2}}{2}\right) = \frac{\sqrt{2}}{2} \sqrt{1 - \left(\frac{\sqrt{2}}{2}\right)^2} = \frac{\sqrt{2}}{2} \times \frac{\sqrt{2}}{2} = \frac{1}{2}$

$g(x) = \left\{ \begin{pmatrix} 1 \\ 2 \end{pmatrix}, \begin{pmatrix} 2 \\ 1 \end{pmatrix}, \begin{pmatrix} 3 \\ 1 \end{pmatrix}, \begin{pmatrix} 1 \\ 3 \end{pmatrix} \right\}$ $f(x) = \left\{ \begin{pmatrix} 1 \\ 2 \end{pmatrix}, \begin{pmatrix} 2 \\ 1 \end{pmatrix}, \begin{pmatrix} 3 \\ 1 \end{pmatrix}, \begin{pmatrix} 1 \\ 3 \end{pmatrix} \right\}$

الف) $f(g(x)) \Rightarrow \left\{ \begin{pmatrix} 1 \\ 2 \end{pmatrix}, \begin{pmatrix} 2 \\ 1 \end{pmatrix}, \begin{pmatrix} 3 \\ 1 \end{pmatrix}, \begin{pmatrix} 1 \\ 3 \end{pmatrix} \right\}$

ب) $g(f(x)) \Rightarrow \left\{ \begin{pmatrix} 1 \\ 2 \end{pmatrix}, \begin{pmatrix} 2 \\ 1 \end{pmatrix}, \begin{pmatrix} 3 \\ 1 \end{pmatrix}, \begin{pmatrix} 1 \\ 3 \end{pmatrix} \right\} = \{ \}$

ج) $f(g(x)) \Rightarrow \left\{ \begin{pmatrix} 1 \\ 2 \end{pmatrix}, \begin{pmatrix} 2 \\ 1 \end{pmatrix}, \begin{pmatrix} 3 \\ 1 \end{pmatrix}, \begin{pmatrix} 1 \\ 3 \end{pmatrix} \right\} = \{ \}$

د) $g(f(x)) \Rightarrow \left\{ \begin{pmatrix} 1 \\ 2 \end{pmatrix}, \begin{pmatrix} 2 \\ 1 \end{pmatrix}, \begin{pmatrix} 3 \\ 1 \end{pmatrix}, \begin{pmatrix} 1 \\ 3 \end{pmatrix} \right\} = \left\{ \begin{pmatrix} 1 \\ 2 \end{pmatrix}, \begin{pmatrix} 2 \\ 1 \end{pmatrix}, \begin{pmatrix} 3 \\ 1 \end{pmatrix} \right\}$

$f = \left\{ (1,1) \times (2,2), (2,2) \times (1,1) \right\}$ $g = \left\{ (1,1) \times (2,1), (2,1) \times (1,1) \right\}$ $(a,b) = (1,2)$

$f(g(x)) = (1,1) \times (2,1) \times (a,1) \times (b,1) = (1,1) \times (a,1) \Rightarrow a = 1$

$g(f(x)) = (2,2) \times (1,1) \times (1,1) \times (2,1) = (2,2) \times (1,1) \Rightarrow 1 = 2 \Rightarrow b = 2$

$f(f(x)) = x + 1$

$g(2x+1) = 2x+1$

$g(f(-1)) =$

$f(x) = 2x+1 \rightarrow x=-1 \rightarrow -1$

$f(x) = ax+b$

$f(f(x)) = a(ax+b)+b$

$ax+ab+b = x+1 \Rightarrow a=1, b=0$

$2x+1 = -1 \Rightarrow 2x = -2 \Rightarrow x = -1$

$g(-1) = 2 \times (-1) - 1 = -3$

ثلاثة

$$f(x) = \sqrt{x+1} \quad , \quad g(x) = \frac{1}{x^2 - 5}$$

$$\sqrt{x+1} \Rightarrow x+1 \geq 0$$

$$|x| \geq -x \rightarrow \mathbb{R} \text{ مبرر}$$

$$D_{g \circ f} \Rightarrow g(f(x))$$

$$x^2 - 5x = 0$$

$$x(x-5) = 0 \rightarrow x = 5 \Rightarrow x \neq 5$$

$$D_{g \circ f} = \mathbb{R} - \{5\}$$

$$g(x) = \sqrt{x} \quad , \quad f(x) = \sqrt{1-x^2}$$

$$1-x^2 \geq 0 \Rightarrow 1 \geq x^2 \rightarrow D_f = [-1, 1]$$

$$\sqrt{x} \Rightarrow x \geq 0$$

$$D_{f+g} = D_f \cap D_g = \textcircled{1} \cap \textcircled{2} = [0, 1]$$

$$f(g(x)) = \sqrt{\frac{x}{\sqrt{1-x^2}}} \Rightarrow \sqrt{1-x^2} \leq 1 \Rightarrow 1-x^2 \leq 1 \Rightarrow -x^2 \leq 0$$

$$\Rightarrow D_{f \circ g} = [-1, 1]$$

$$f\left(\frac{x+1}{x-1}\right) = 5x+2$$

$$\frac{x+1}{x-1} = t \Rightarrow x+1 = tx-t \Rightarrow 1+xt = tx-t \Rightarrow x = \frac{1+xt}{t-x}$$

$$f(t) = 5\left(\frac{1+xt}{t-x}\right) + 2 \Rightarrow f(x) = 5\left(\frac{1+xt}{x-1}\right) + 2$$

$$f\left(x + \frac{1}{x}\right) = x^3 + \frac{1}{x^3}$$

$$x + \frac{1}{x} = t \Rightarrow t^3 = \left(x + \frac{1}{x}\right)^3 = x^3 + \frac{1}{x^3} + 3x + \frac{3}{x} \Rightarrow x^3 + \frac{1}{x^3} = t^3 - 3\left(x + \frac{1}{x}\right)$$

$$f(t) = t^3 - 3t \Rightarrow f(x) = x^3 - 3x$$

$$\left. \begin{array}{l} g(1) = 0 \\ g(\sqrt{5}) = 0 \end{array} \right\} \begin{array}{l} \text{نقطتين على } g(x) \\ y=0 \\ x=k \end{array}$$

$$g \circ f(x) = g(f(x)) \rightarrow f(x) = 1 \Rightarrow x\sqrt{x} = 1 \Rightarrow x = 1$$

نقطة واحدة على $g(x)$ هي $x=0$
 $y=0$
 $x=k$

$$f(x) = \sqrt{5} \Rightarrow x\sqrt{x} = \sqrt{5} \Rightarrow x = \sqrt{5}$$